
IG920−8A, 41

Farbmetrische Transformation i = 3
c*i  = c*3  = a c*b mit a = 1,00; b = 2,00

rgb −> cmy0*e rgb* −> cmy0*e3



IG920−8A, 42

Farbmetrische Transformation i = 3
c*i  = c*3  = a c*b mit a = 1,00; b = 2,00

rgb −> cmy0*e rgb* −> cmy0*e3



IG920−8A, 43

Farbmetrische Transformation i = 3
c*i  = c*3  = a c*b mit a = 1,00; b = 2,00

rgb −> cmy0*e rgb* −> cmy0*e3



IG920−8A, 44

Farbmetrische Transformation i = 3
c*i  = c*3  = a c*b mit a = 1,00; b = 2,00

rgb −> cmy0*e rgb* −> cmy0*e3



IG920−8A, 45

Farbmetrische Transformation i = 3
c*i  = c*3  = a c*b mit a = 1,00; b = 2,00

rgb −> cmy0*e rgb* −> cmy0*e3



IG920−8A, 46

Farbmetrische Transformation i = 3
c*i  = c*3  = a c*b mit a = 1,00; b = 2,00

rgb −> cmy0*e rgb* −> cmy0*e3


